#514]0]
ARV TFV—INT K
LAEDHER PR EX — ML)
BA M H @ Af4GE10H21H (4)
Bl AT - BKERELUAY RV =057

OUTZ & — | 6944 2513944
FHEL [ 24— MRS K % K 4 K % K %
1 7:58 $E @ =5 XE xa | Ra/N  EE |tBEcK HIE
2 8:05 1k & ;th = =iE (E 1k R
3 8:12 EIE YLK fE | s piif:E & EIE  FEF
4 8:19 S 553 i E R =L FrH e
5 8:26 L5H & A iE BRI — | BE  EH
6 8:33 i B— ;AR S Hil BE il EES
7 840 |&HRE 2 =i# E5 | KEHE £ ik ER
8 8:47 k& £ TE b I A<F | BEEB WF
9 8:54 A0 HER K& &H— FHH F A0 2 EHE
10 9:01 =qi0 = 1k R & H i F BER
11 9:08 H AIE HRER HE it il —E fitll HEF
12 9:15 55 £ 4 HE |mEL FE HH  {EMEER
13 9:22 it Big hnk i EF —& | B8 EE
14 9:29 |{EAXK & EE  EXiE | £H =A
15 9:36 /NE 3E5h o E X5 =ia sy
16 9:43 | ZHA il GiEE F 2 ik F— %k iE
17 9:50 kiR 2E; REF &% S &%
18 9:57 k& f— 1k FE 7] =M1 & Bl FE4L
INZ & — b 704
FHEL | 24— MRERS K 4 K 4 K % K 4
1 7:58 HIR 2 55 EA ki AR {E kigx &
2 8:05 i & A& s INER s T+ H g
3 8:12 A & 12 G2 E ] ;AR MA |[fEAK  FIX
4 8:19 INER i IS FIEF | k& £ 3
5 8:26 =ik RS KIE EA = iE IEE B+t &
6 8:33 BiBE EF = H £F *F EHRXE | ¥k AEF
7 8:40 2R 45 ki 1E3x th%& 3
8 8:47 FEH RE Y] W3 IV EL [RH &
9 8:54 INFR FE | /MBI EF =R [EF Bl FFF
10 9:01 GG il = g i A5 HE Hfy EF
11 9:08 a5 S T H = 7% H BE AK &
12 9:15 &k FR |EAR  EA #E e FER EE
13 9:22 1k b KiF Bt BHE B | T 13
14 9:29 Rk 5h1T =15 BE RAE £ FiE BT
15 9:36 |MEBER A ik EX 1k RE
16 9:43 INE] i B ik = B kg XX
17 9:50 R = BH 2 FRE | gk EA R =
18 9:57 AXH i kSl B2= kS 1B | P i




